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—4A =-2A-6

LA=3

B=-2x3-6=-12

C=A%2=9

LA+B+HC=3-124+9=0




3x
|
\
\
\ Y
(@)6x2—|—5x—6 @ 4x>2+12x+9 @ 9x2-12x+4
@ 6x*2-5x+6 ® 4x2-5x+6

129 7t29] Aol 2x+3, A2 9] ZolE 3x-2 O]

2o] Yol




19. A= "2 "D oy o0 [B_2A-B)} = x yol BT

2 3
A1 0 g LERYHE?

® 3x-7Ty @ 3x-y

@ x-3y @x—y

® 2x -4y

~&B

2A - {B-2(A-B)} =24 - (-2A + 3B)
=4A-3B
A, B 9] g didstd
fAA-3B = 4x I g X
2 3
=2x—-4y—x+3y=x-y




3x—ay=-3
124 4] { Y o 7} (3, 2) L W, atb o] FE?

7 @)10 ® 11 @ 13 ® 15

3x—ay=-3° (3, 2) ENYSIHa=60°] 1, bx+y=14
o (3, 2) = tHYSHA b = 4 7} 2t}
SLa+b=6+4=10




2x-3y=5

© el st

o
=

Q

s,

A7ASHA, 2x-3( @) =57}

=
=

1G]

® —4x

@ 2x-1

® -2

5 o)A EH y 7t

2x-3( @)




22,

1 1 1 1 1 _
ogls~s - -~ T .. A 8strsl nT
T B " 99 100 SelA freasas 25
2 A
@ 87H @ 971 @10711 @ 11 ® 1270
Br7l 29 AGAZORT 24, 25, 26
Bn7l 59 ASAFo 2T 52
29} 59 ASAFOZTE 2x5, 22x5, 235, 24x5, 2x52, 22x52

. 107}




23.

ahgxuqﬂ Al&F), b
a=9,b=16E=
516+ 8 +4 =28

a=9><2,b=8—1—'1?

:%:§£§ﬂﬂi%ﬂé¢ﬂﬂa%a%3ﬂﬂ¢ﬂﬂ¢
St}
1%E¢ﬂ olgfal stglenzs,

be 3ETHZ 29| Hj57} Eofof .
a=9x4, b=4




24.

ofd 2ol 0.45 Jg_a

247} 27} =9t o'

@® 32 @45
B

xx04—xx04=2
4 2
20x — 18x = 90

S.x=45




25. LAY x—ay+6=0°| (3, 3). (0, b), (¢, 5) HZL 7+

@ 10 @ 11 ® 13 @14 ©® 16

B

(3, 3) Ex—ay+6=00l HYSIH 3-3a+6 = 0, TtA|
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c—a—b 9 727
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=
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